= A
N = 0] &F AF S & AN A
2022 & 20 A BHEAD|IZAILEELESH HAM
SN gBHseld
NI Gl 22
SR Sl HEH L SX(BHIZANLELESH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
stH=s 22 34,389, 164 42,349,623 NT,960,459
= 8,079,400
= 1,968,700
= 24,341,064
otx=& 22| 15,473,180 26,191,112 N 10,717,932
= 6,056,000
o= 854,000
= 8,563, 180
o4& NAH & SX(SHIZAILELESH) 3,629,000 1,044,000 2,585,000
= 2,069,000
= 1,560,000
ot H HH ¢ =4 530,000 744,000 A 214,000
401 Al HI L 2 0HHI 530,000 744,000 A 214,000
01 Al& B 530,000 744,000 A 214,000
OHolS(AH Ot SAH 2 2T AE) HY
AHd| &Hdl 1000+ 200,000
SHOHSAIINK s s& L WX 30,000
o228 =% ¢ =4 200,000
OL=Zotx=22 WA 100,000
ol ob=&)H HHl AFY 2,599,000 300,000 2,299,000
= 1,819,000
= 780,000
401 Al HI L 204 HI 2,599,000 300,000 2,299,000
= 1,819,000
= 780,000
01 Al&H| 2,404,000 300,000 2,104,000
QOot=a=2 AAE19.4km 2,404,000
= 1,682,300
= 721,700
02 2eldl 194,000 0 194,000
OQbt=&=2 AAE19.4km 194,000
= 136,000
= 58,000
03 Al 201 Y| 1,000 0 1,000
Odt=&2 Al &19.4km 1,000
= 700
o 300
M2xt gol® =622 ZEUI(1&H) 500,000 0 500,000
= 250,000
= 250,000
401 AlEHIZL £ 0HY| 500,000 0 500,000
= 250,000
= 250,000
01 Al&H| 500,000 0 500,000




N 2322
M ot 2e
¢l ot HEH ¥ SXN(EHINZANLEEEFAH) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OZZFHI(2E HIZ2F) 22RIEF (2,
H=2) 500,000
= 250,000
s 250,000
SHENSoI+=SZH (BB ZAMESLESA) 5,697,000 16,186,430 210,489,430
= 3,987,000
< 854,000
s 856,000
OIFCA ==8 I Yool d =HAA St=XalE 4,105,000 6,702,000 A 2,597,000
= 2,873,000
< 616,000
[ia 616,000
401 Al I 28I 4,105,000 6,702,000 A 2,597,000
= 2,873,000
< 616,000
s 616,000
01 A& HI 3,881,200 6,040,000 A2,158,800
Odt=Xel 7 A, S22 26. 1km 3,881,200
= 2,716,600
< 582,300
s 582,300
02 Zeltl 221,800 660,000 A 438,200
Odt=xXMel 7Y 5L, o222 26, 1km 221,800
= 155,000
S 33,400
s 33,400
03 AIE 2 0HHI 2,000 2,000 0
Odt=Xel 7 A, S22 26. 1km 2,000
= 1,400
< 300
[ia 300
AE. 7,28 sHEDNS ot=& 1,163,000 3,878,000 22,715,000
= 814,000
< 174,000
[ia 175,000
401 A& HIZ 201 8] 1,163,000 3,878,000 A 2,715,000
= 814,000
< 174,000
e 175,000
01 A& HI 1,074,000 3,876,000 A 2,802,000
Odt=xel& 24, St=22 20.4km 1,074,000
= 751,600
< 160,700
s 161,700
02 Zeltl 87,000 0 87,000
Odt=H™el& 24, dtx=22Z 20.4km 87,000
= 61,000
< 13,000




N 2322
B slas 22
e sHESoH=ZFHUI (BB ZANESESAH) )
SA - BB B () - MM - BES Ol &t o San HmEET
o 13,000
03 Al 2 THHI 2,000 2,000 0
Odt=H™eld 24, st=22 20.4km 2,000
= 1,400
= 300
[ia 300
OIFOATH S M AMGHA (2E H ) =sHEDIS ot=& XA 429,000 0 429,000
o]
= 300,000
< 64,000
s 65,000
401 Al HIZ 201 I 429,000 0 429,000
= 300,000
= 64,000
s 65,000
01 A& HI 429,000 0 429,000
Odt=HMeld 3MA, st=2=2 13.1km 429,000
= 300,000
= 64,000
s 65,000
BHEJIZ=AIE 22 2 (S#EI=AESESH) 6,147,180 8,960,682 A 2,813,502
BII=EANE 29 2,979,880 2,648,122 331,758
201 L2l 1,594,180 1,563,280 30,900
01 At 22l 95,120 69,640 25,480
Oget=&H| 11,000
O=ZTNSE = Z At 3,000,000& =104 2 3,000
O=Z&TNMSE S Z A JI=X&Hl
5,000,000 =104 2 5,000
OA 24 >2(ELE2H NWNHIL=2, 245
HIIEAN,S02E &) 10,000
Odt=Xeld ZBetAlAE AIEZ2
200,000& *1000 2128 24,000
Odt=H™eld Xtg elAdl 700,000 «3CH 122 25,200
OEIZANE A=29 A 110,000& 122/ 1,320
O33at=HelAld I &AL &S
500,000& =123l 6,000
O3R% FL22 ¢ HA2R S&H|
8,000& x2H 100! 1,600
O33at=HMelAlE AHFIZA
2,000,000& *43| 8,000
02 =224l 1,499,060 1,493,640 5,420
02323 %2 HA 932,640
—ot=HalE HIIe= 70,000,000& x12& 840,000
—ol=HeE 4+ER3 350,000& x12& 4,200
—ot=E &3l 3,000,000& =13l 3,000




N 2322
s 5l4E e
el SHIIZALE 2ol - 2 (BHIZAMEEESA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—SEZAN 0HY NE=
70,000& *784 =128 65,520
—zEH2E HIIes 1,660,000& 12 19,920
O#ZTNS sXI2el(2M4)
5,000, 000& «20 &~ *12& 120,000
O&E+=XMa& HII=Heltl
2,000,000& x12& 24,000
OA&ZEH ®Xdl 33,000
Odt=s=el Xl fAE Xl 150,000& »2, 100& 315,000
Oot==&£ & & Xl 260,000& 100 26,000
OFGAIE (10HA) HIIES 28]
3,500,000& x12& 42,000
OT0CZ & & Hl S Xl 500,000& »12& 6,000
OHl&gdEI 7772 1,400& »100L*3CH 420
206 = Hl 145,000 122,000 23,
01 M2 4l 145,000 122,000 23,
Ox=ZoEY ANt 2 6,000,000& x12& 72,000
Odt+=s2iXl E= a4E 7
4,000,000 +12& 48,000
OsoXelAd < 2 250,000& »100& 25,000
401 AIEHI L 2CHYI 909,700 593,700 316,
01 A& HI 909,700 593,700 316,000
OXlot=H=I| AREX L B (A7200/2
250JH)  (210,000& 2094 )+(110,000& 5074 ) 9,700
OZ3ot=XelAl8 HEEDE =44
400,000 10004 2 40,000
ObtSot=HMelAl8 HE=
20,000,000& *109H £ 200,000
Os=xMcld HE=H 30,000
O&AZAYE &4 wH 1,500,000& 204 30,000
Odt=XMelAlE8 HEBO T HI WX 100,000
Oot=HMel& Il S (100HA) 110,000
Odte=22 & B2 350,000
Odte=xeld LA FH 40,000
405 XH&kE S| 331,000 0 331,
01 et ESFH S 331,000 0 331,
Oadsa =ZFZAZH F2(T0C) 80,000
O=ZMS £&J17 7 120,000, 000& »2CH 240,000
O& &4 BODHH Dl & 6,000
OagadsdLs EFHI| 2 5,000
EZII=ANY /AER2 S 2,966,000 2,566,000 400,
307 212+0| & 2,966,000 2,566,000 400,
05 eI2+9I et 2,966,000 2,566,000 400,000




SN BFERAY
Ha: otaE 22l
ool BAINEAL el 2Y(BZIIEA

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O33dt=EXelAlE RItEF 2,966,000
DI E~UNE~ID] P 200,000 200,000 0
401 A& HIZ 2018 200,000 200,000 0
01 A& HI 200,000 200,000 0
Odt=HMelAld JIsdeo MGE AEHd 200,000
EoeiHrz 0 1,300 1,300 0
402 RI2EXt20l ™ 1,300 1,300 0
03 212t EF AL HI 1,300 1,300 0
Ofb+=H == === 13,000,000 «10% 1,300
HOlI=Z A&t 13,664,981 13,940,210 AN 275,229
= 2,023,400
= 1,114,700
s 10,526,881
A BHEYE(SHIEZANEELESA) 2,083,162 1,431,169 651,993
= 323,400
= 114,700
s 1,645,062
HIIE Ml N 103,800 56,200 47,600
201 Let24d] 67,800 42,700 25,100
01 At 22/l 57,400 38,500 18,900
Oget=gH| 25,000
— Mg HHE B & X
100,000& *51 2«10 E S 5,000
—goig 2ol thdl S E SOl SHE FH
100,000 x 100 & *100H S ™ 10,000
—HESZ sl SES MH
1,000& =10, 0000H 10,000
OFALZANE AMES ¢ 500,000& *123] 6,000
OFALSAE HH90tA3 722 900,000 =123] 10,800
OFALZAH AFLEI Y 2,000
OF0IH WAt st&EX ¢
1,000, 000& *23l 2,000
OHHEX watAted A&X 2 500,000& 23] 1,000
ON&s8s 225 LIyl 800, 000& x53] 4,000
OotoI AT THALE At =23 ¢
100,000& *123] 1,200
OMgE = HM& =23 #& 150,000& 122/ 1,800
OHASB(¥Z 92 S) ¢
300,000& =123l 3,600
02 =224l 10,400 4,200 6,200
OHmHJIZS83altl 2,200
OS"YEI| ZAldttet HIlR=s S
100,000& * 123 1,200




2N BF2BAS
M HolE XFE
Sl HA BH(HBIIZALSEEN) CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHIIZ(A2.0E) H2FES E7
10& %200, 000kg 2,000
OBAT2N FHANE 4244
500,000& x63l 3,000
OEYEIICCTV, 2 E &8 RAE*
500,000& *43] 2,000
206 M= Hl 5,400 13,500 A 8,100
01 =4l 5,400 13,500 A 8,100
OHEZES HAEXN=HE 7L 60,0003 «50H 3,000
OMgstls M ME(IOtEALH
2,000& *1,000kg 2,000
ONHEZ BAE M3 ¢
20,000& 1024 »23] 400
301 LEAZ 600 0 600
09 HALAHIXI &3 600 0 600
OO0t0l AT Al XA FA 150, 000& 42| 600
401 AIEHI L 20 30,000 0 30,000
01 A& Bl 30,000 0 30,000
O2"8SI 2Alatet &X1 5,000,000 604 30,000
SEHN=sE 22 168,000 125,000 43,000
201 €24 3,000 0 3,000
01 At 22l 3,000 0 3,000
OZENESE & ERES 2SS0 JAJtAH A
29 3,000
206 M= Hl 115,000 125,000 A 10,000
01 =4l 115,000 125,000 A 10,000
OXreJIEEdNMSE MEH 115,000
307 glz2+ol & 50,000 0 50,000
05 212t E = 50,000 0 50,000
OZYNEE L UPLE I3UY oA 50,000
CHEmols 2el 369,040 308,200 60,840
201 Let2d] 9,040 0 9,040
01 At 22l 6,000 0 6,000
OUEHII= AEIA ME 4003 +15,0000H 6,000
02 =224l 3,040 0 3,040
OUEHIIS 8NZBHMAMEIA =2 E2
120,000& *123] 1,440
OUEHII=Z HEAAY (o= SHOIX) =
e 1,600
401 Al HIZ 201 Y| 360,000 50,000 310,000
01 A& 8l 360,000 50,000 310,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
OUEHIIS(HSH) 2IE Ml
150,000& 700& 105,000
OEFHIS (LX) Al
350,000& *300& 105,000
OUgHIIES RotE =4 150,000
FaXE A ¥ sX2el 381,376 194,740 186,636
201 L2l 206,376 184,740 21,636
02 23224l 206,376 184,740 21,636
O&FEAXE SFHI 500,000& x17CH*12& 102,000
OFAXE | E= 500,000 x17CH*12& 102,000
OFAXE GPSMHIA 3
16,5003 x 120 x12& 2,376
405 XHoHF S HI 175,000 10,000 165,000
01 et EZFH S 175,000 10,000 165,000
OFAXZE M 7¢ 175,000
—dAZ2d et 175,000, 0002 = 1CH 175,000
Hasgs =8 &€ &d 31,612 34,500 A2,888
301 LA F 31,612 34,500 22,888
12 J|EtE &= 31,612 34,500 A2,888
ongss =% i3
(702 *150,000kg)+(50& 100, 000kg) 15,500
Osobly 7 243
(1,600& *8,000kg)+(3,680& *300kg) 16,112
H&sg8 =H NI E= 175,175 0 175,175
< 26,670
i 148,505
201 2et24d] 19,600 0 19,600
02 =24l 19,600 0 19,600
ONMgsEs = XNEI 29|
350,000& +7CH+8E 19,600
401 AIEBIZ 201 8I 155,575 0 155,575
< 26,670
[ia 128,905
01 A& HI 155,575 0 155,575
oMggs =1 eI 4
22,225,000 *7CH 155,575
< 26,670
s 128,905
MEHIIE ZelthE SR0IALE 153,330 184,000 A 30,670
< 18,930
[ia 134,400
101 1A bl 153,330 184,000 A 30,670
< 18,930
[ 134,400




2A: 3H
2 HO

Eel BA HYE(BBIZANEELEIA) (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

o
=~
o
N
=
ry
Hu
paal
on
H
4>

153,330 184,000 A30,670
OMEHIIS 2eltiE TR0IAY 163,330
— Q12| 9, 1603 «5Al 2t 11H +26 L 113 144,087

18,930
125,157
—40 28x 9,243

UL

OtOI AT THALE AMEY 7,400 0 7,400

3,700
3,700

M

405 XtatE S HI 7,400 0 7,400

3,700
3,700

M H

01 ML ESFHSH 7,400 0 7,400
AT THAIE A 7,400

— M= (1) 3,200
1,600
1,600
—Xed AZXI 2L (1U) 700
350
350
350,000& =104 3,500
1,750
1,750

EURLY

EUNL

|
=)
=]
>
J
1
)
0
4
11

EURLY

=
ik
00
omn

uiore X X3 A 200,000 0 200,000
75,000
30,000
95,000

Mo H

401 AIEHIZ 2 I 200,000 0 200,000
75,000
30,000
95,000

MW

01 A& HI 200,000 0 200,000
ongss suotg £x
20,000,000 * 1071 2= 200,000

75,000

30,000
95,000

M A

dsHII= =HXel 40,000 52,500 A 12,500
12,000
28,000

M

201 fEt2E | 40,000 0 40,000

12,000
28,000

EUNL

01 AFR 22l 40,000 0 40,000

O&EsHII= =H g YRl 40,000
12,000
28,000

EUNE




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEHHYE =HEd= 72,000 64,000 8,000
= 9,000
< 9,000
s 54,000
301 LEHZ 72,000 64,000 8,000
= 9,000
< 9,000
s 54,000
12JEEd= 72,000 64,000 8,000
OgsHHE =HE24 80& *900,000kg 72,000
= 9,000
< 9,000
[ia 54,000
==&otE == A& 60,000 70,000 A 10,000
= 14,400
< 14,400
i 31,200
401 Al HIZ 2018 60,000 70,000 A 10,000
= 14,400
< 14,400
e 31,200
01 A& HI 60,000 70,000 A 10,000
Od=HbE Hotd £X 5,000,000 1270 £ 60,000
= 14,400
< 14,400
s 31,200
StEsSt Medl ALY 321,429 321,429 0
= 225,000
[ia 96,429
101 @124l 84,272 73,248 11,024
= 58,990
[ia 25,282
04 JIZHHZ2Z 2RSS E S 84,272 73,248 11,024
Oodt+ KA Il =H 2AH|
73,2803 x25H x46 84,272
= 58,990
s 25,282
201 Let24d] 20,000 28,000 A 8,000
= 14,000
s 6,000
01 At 22l 20,000 28,000 A 8,000
Odt7 BERMYI AN dXt
4,000,000 =4 CH 16,000
= 11,200
s 4,800
Odtx BRMAHUI =HES 4,000
—MgJIsE 7Y 1,000& =1,0000H 1,000




2N BF2BAS
Hz: HIIS I
S HA HNH(SHIZANLESESH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 700
2 300
—=YED| YA otlhE S &X
100, 000& 1400 & 1,400
= 980
= 420
—dALAEE FY 200,000& =83 1,600
= 1,120
= 480
401 Al HI L 2 0HHI 217,157 220, 181 N 3,024
= 152,010
= 65,147
01 Al& H| 217,157 220, 181 AN 3,024
Qo BEgMY I fA=Hel(700€) 217,157
= 152,010
= 65,147
HIIZ2 M2lAlE S (SHIZAEELSAH) 11,581,819 12,509,041 NQ27,222
= 1,700,000
< 1,000,000
= 8,881,819
HIIS2 XKl AlE 22 613,502 539,272 74,230
201 et H9d| 354,196 333, 126 21,070
01 AP 22| H| 54,250 71,615 N 17,365
Ogbt4x=24| 54,250
—HES STAMTHES)
200,000 109 A x4 2 D] 8,000
—HES YRS THES)
200,000 1 A~ x12& 2,400
— K5t (24018 =) 150, 000 =40l A~ x4 2 | 2,400
— e EX2AHAT HAH
3,500,000 *2H A~ *13] 7,000
—HEE BEIIA H22A
360, 0003 *x20H A~ *13] 720
— SASMAHIIHEAIE HII& A
2,000,000 *1H A *13] 2,000
—SAZSRMHIIE SUEI /A3 LG
70,000& «»8H 560
—ANESES0EHE I A
3,000,000 2 A~ 18] 6,000
—23YSs AlES 12,0002 x 10 2~ ~12& 144
— A=D1 (400), 2212 AD| (50y ) et =
44 500& =90~ 12& 4,806
—HE&E 2oHH &4 400,000& x12& 4,800
— s SEHY 24D A
585,000 x13| x12& 7,020
—MJjetE e 299 700,000 ~12& 8,400
02 2224 H| 299,946 261,511 38,435




2N IS 2elH
M HIIE MEFH

o

S HIIS MelAlE S (SHIIZAIEELESH) (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OZ2Z222 ¥ HMA 136,200
— A& Bl AER2 1,350,000 x12& 16,200
—HEZAIEH IS (5HA)
10,000,000 ~12& 120,000
OA & &Hl XYl 38,200
~MERLYE AL SNBSS
1,000,000 x12& 12,000
—MEHIIZ WY A2
10,000,000 = 1JH £ 10,000
—HEE HZ2EH & =& 2,000,000& *14] 2,000
—MHEsSSHEH S22l
4,500,000 * 10 & 4,500
— &= HelAd X2l
2,500,000 *1JH & 2,500
— SAS HelAd SX22dl|
4,500,000 *1J0 & 4,500
—HEHIIZS HEEH H& X2l
225,000& x12& 2,700
OZHl RFHl (24|12, 2RH?2, SAXEH,
SEEXE1) 350,000 6L x12& 25,200
OMgHIIE2 dE28g=2 99,346
— HEAIA 15& *5,600,000kg*1.0448H & K| 2= 87,360
—SASRMHIIE BEM2AAE
25& x317,000kg*1.04 A A K| 2= 8,242
—MEs8g8 s
15& %x240,000kg*1.04 A& K| 2= 3,744
OUHE & ety z2tE E & 1,000,000 = 14! 1,000
206 M = Hl 47,306 47,306 0
01 X2 H| 47,306 47,306 0
O & g9 E 540,000 x6= 3,240
OJAZE2 Hsez 500,000 =44 2,000
O 2 JpAZE 2 100, 000& *9JH 900
OHIIZXelANE AFNHAHM, 22
90,00024*1 hEFA 1,350
OR% HIME B (4+5)72 ¢
11,000 486 & 5,346
Oz =28y 222 0t (40kg, 500kg)
6,000 x9000H 5,400
oNgas ¢=5)| ZTH¥E2 2,700,000 =14l 2,700
OSAZSRHIIZE £=HE)| & HEES M 26,370
—H2E23 M 250,000& x458+ A 11,250
—FE2LE2HEI(HAE 12081H)
40,000& *90H 3,600
—&dE2H2J(YA28 6021H)
32,000 *360H 11,520
401 Al HI L 2 0HHI 135,000 155,000 A 20,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 135,000 155,000 A20,000
OQHIIEMelANE 28 (HEes8dEE 2
OIHEE 2L S) M B A 90,000
90,000,000& =14
OFEFHeANE NRX &4 L A4 N
&S A 45,000,000 =14 45,000
405 TtobF S| 77,000 0 77,000
01 et EFFHSHI 77,000 0 77,000
O =E8 = I7%E UM 72¢
77,000,000 = 1CH 77,000
HIIE XclAl4 RIZtE 992,317 881,769 110,548
307 glz2tol & 992,317 881,769 110,548
05 RIZt &= 992,317 881,769 110,548
OsAEFRHIIE =8, 28 € MelANdE 2
el #E 82,693,060& x12& 992,317
MEHIIS 29 A2AE =2 2,809,000 5,678,000 A 2,869,000
308 XX EHSOIA 2,809,000 5,678,000 A 2,869,000
07 IXNHMAR S = 2,809,000 5,678,000 A 2,869,000
O22AE 293 ol =& A I 2,809,000
— A& AP I 872,000
— FRXZ 2,000,000
— &=l 437,000
HIISXelAl & (&) 4,167,000 810,000 3,357,000
= 200,000
s 3,967,000
401 AIEHIZL 20 3,500,000 10,000 3,490,000
01 A& tl 3,500,000 10,000 3,490,000
OARIHE AL R2XNHH X S8 S 3,500,000
403 XA SA=0l& 667,000 0 667,000
= 200,000
s 467,000
02 S 2S0CHE A EE 2 & AL H 667,000 0 667,000
Odn MEHII=S AL SIS S 667,000
= 200,000
s 467,000
SIEHIIE S& H0I2ItASH AlE 3,000,000 4,600,000 A 1,600,000
= 1,500,000
< 1,000,000
[ia 500,000
403 MtXISHH S X201 & 3,000,000 4,600,000 A 1,600,000
= 1,500,000
< 1,000,000
[ia 500,000




2N

M HIls NSt
S HIIS MelAd G (HIIZAMEELGH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
02 BI2SHUSAN2EAEAIS Y 3,000,000 4,600,000 A 1,600,000
ol SRIIHHI0ILIMATIAIE A3 9
Et 3,000,000
= 1,500,000
< 1,000,000
= 500,000
ol 51 d] 240 0 240
OlHIH (B HEII=AEELSIH) 240 0 240
ol 5l 8] 240 0 240
801 ol bl bl 240 0 240
B UHESRES 240 0 240
OURRES3 240
HHSHAL (FAS2C) 2,250,763 2,063,301 187,462
laEAAY|(BFHI|IZAEELESH) 2,250,763 2,063,301 187,462
ANJ=stze ol 2dd| 2,066,573 1,865,000 201,573
101 @1 21| 2,047,663 1,865,000 182,663
03 BLA(RIHS) 22 XNE £ 1,927,270 1,769,000 158,270
OPIE=r= 2,800,000 x31H x12& 1,041,600
(OF = 336,350
824 3,100,000 *x31H *23| *50% 96,100
— Mg ctEAy| 3,100, 000& *31H 53] x50% 240,250
(OFSRLEe=y 148,800
—tEx4 90,000 318 x12& 33,480
— SR 120,000& *31H x12& 44,640
- 60,000& «31H x12& 22,320
— &AL 130,000& *31H x12& 48,360
Oxl22E 285,200
— 522 120,000& *31H x5 x12& 223,200
— ARSI 100,000& 31 20 62,000
O=cl=Ml 115,320
= F-=lsl| 3,100,000& x31H *23| *60% 115,320
04 JIZtHIZ22XNSE S 120,393 96,000 24,393
OS JII2&E A JI2tH el
73,2803 252 x 128 x5 109,920
O JI2E A J|2HH 40282 9,673
O JH2F A JIZ2HMl TI=H (A &)
100, 000& *4H x23] 800
201 LEr2 Y| 14,880 0 14,880
01 AR 22l ] 14,880 0 14,880
OstHZ2Z T2 (ot&AH|) 14,880
— OtX 5} 100, 000& *31H 23| 6,200




2N
X ZH -
L= B

el

g3l
dY2IZH (= 2elE)
QA2 (B ZIEZANESESA)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— &Y= 100,000& »31H 2 6,200
— M9 80,0003 x31H «1& 2,480
202 O4dl 4,030 0 4,030
01 = LH 4 Hi 4,030 0 4,030
OBAT2E XX A8 Ol
130,000& *31H 4,030
HOISXM2AE a2 184,190 198,301 A14,111
101 @124l 184,190 198,301 A14,111
04 JI2ZtHZ22HEE = 184,190 198,301 A14,111
OMEELE JIZHIZ2A =
73,2803 252 x8H x 118 161,216
ONMesSdE JIZHNI2 X 40 282
161,216,000 *11% 17,734
OMEELE JIZHM2Z2A HJAXZH 2,000
on=tl 3,240
— &3 120,000& 12 x 13| 1,440
— &Y= 100,000& x12H x 13| 1,200
—OtME ¥ ot E 2 50,000& x128 +13] 600
Heas(gds2ed) 3,000,000 0 3,000,000
WEHHXS (B ZAESESIHA) 3,000,000 0 3,000,000
HIOIEX2ANE =89 X3 dE= 3,000,000 0 3,000,000
702 JIS38ES 3,000,000 0 3,000,000
01 JI3d&E= 3,000,000 0 3,000,000
OHYISXelAld =8HXS =X S 3,000,000




